

A new generalization of Radon's Inequality and applications

DUMITRU M. BĂTINEȚU-GIURGIU, DORIN MĂRGHIDANU and OVIDIU T. POP

ABSTRACT. In this paper we prove a new generalization of Radon's Inequality and give some applications.

1. INTRODUCTION

Let \mathbb{N} be positive integers, $\mathbb{N} = \{1, 2, \dots\}$. The inequality from (1.1) is called, in literature, Bergström's Inequality (see [1], [5]–[10], [12]–[15] or [18]).

Theorem 1.1. *If $n \in \mathbb{N}$, $x_k \in \mathbb{R}$ and $y_k > 0$, $k \in \{1, 2, \dots, n\}$, then*

$$\frac{x_1^2}{y_1} + \frac{x_2^2}{y_2} + \dots + \frac{x_n^2}{y_n} \geq \frac{(x_1 + x_2 + \dots + x_n)^2}{y_1 + y_2 + \dots + y_n}, \quad (1.1)$$

with equality if and only if $\frac{x_1}{y_1} = \frac{x_2}{y_2} = \dots = \frac{x_n}{y_n}$.

In [19], J. Radon proves the inequality from Theorem 1.2, later called Radon's Inequality. Several particular or similar variants of this inequality have been published in the following Romanian journals: *Gazeta Matematică*, *Recreații Matematice* issued by the team from Iași and *Revista de Matematică din Timișoara* (see [3], [4], [11] and [17]).

Theorem 1.2. *If $n \in \mathbb{N}$, $x_k \geq 0$, $y_k > 0$, $k \in \{1, 2, \dots, n\}$ and $m \geq 0$, then*

$$\frac{x_1^{m+1}}{y_1^m} + \frac{x_2^{m+1}}{y_2^m} + \dots + \frac{x_n^{m+1}}{y_n^m} \geq \frac{(x_1 + x_2 + \dots + x_n)^{m+1}}{(y_1 + y_2 + \dots + y_n)^m}. \quad (1.2)$$

In [2], we prove the inequality from Theorem 1.3, which is a generalization of Radon's Inequality.

Theorem 1.3. *If $n \in \mathbb{N}$, $x_k \geq 0$, $y_k > 0$, $k \in \{1, 2, \dots, n\}$, $m \geq 0$ and $p \geq 1$, then*

$$\frac{x_1^{m+p}}{y_1^m} + \frac{x_2^{m+p}}{y_2^m} + \dots + \frac{x_n^{m+p}}{y_n^m} \geq \frac{(x_1 y_1^{p-1} + x_2 y_2^{p-1} + \dots + x_n y_n^{p-1})^{m+p}}{(y_1^p + y_2^p + \dots + y_n^p)^{m+p-1}}, \quad (1.3)$$

with equality if and only if $\frac{x_1}{y_1} = \frac{x_2}{y_2} = \dots = \frac{x_n}{y_n}$.

Received: 22.01.2011. In revised form: 21.09.2011. Accepted: 30.09.2011.

2000 *Mathematics Subject Classification.* 26D15.

Key words and phrases. *Bergström's Inequality, Radon's Inequality.*

2. MAIN RESULTS AND APPLICATIONS

In this section, we give a new generalization of Radon’s Inequality and some applications. The result of the Theorem 2.1 is included in [12]. In this paper, we present a new and complete proof of this result.

Theorem 2.4. *If $n \in \mathbb{N}$, $x_k \geq 0$, $y_k > 0$, $k \in \{1, 2, \dots, n\}$ and $m \geq p \geq 0$, then*

$$\frac{x_1^{m+1}}{y_1^p} + \frac{x_2^{m+1}}{y_2^p} + \dots + \frac{x_n^{m+1}}{y_n^p} \geq n^{p-m} \frac{(x_1 + x_2 + \dots + x_n)^{m+1}}{(y_1 + y_2 + \dots + y_n)^p}, \tag{2.4}$$

with equality if and only if $x_1 = x_2 = \dots = x_n$ and $y_1 = y_2 = \dots = y_n$.

Proof. In the following, we denote $X_n = x_1 + x_2 + \dots + x_n$ and $Y_n = y_1 + y_2 + \dots + y_n$. The left side from (2.4) can be written as

$$\sum_{k=1}^n \frac{x_k^{m+1}}{y_k^p} = Y_n \sum_{k=1}^n \frac{y_k}{Y_n} t_k^{p+1}, \tag{2.5}$$

where $t_k = \frac{x_k^{\frac{m+1}{p+1}}}{y_k}$, $k \in \{1, 2, \dots, n\}$.

The function $f : (0, \infty) \rightarrow \mathbb{R}$ defined by $f(t) = t^{p+1}$, $t \in (0, \infty)$, is convex on $(0, \infty)$, so we have that: $\sum_{k=1}^n \frac{y_k}{Y_n} t_k^{p+1} \geq \left(\sum_{k=1}^n \frac{y_k}{Y_n} t_k \right)^{p+1}$, from where

$$\sum_{k=1}^n \frac{y_k}{Y_n} t_k^{p+1} \geq \frac{1}{Y_n^{p+1}} \left(\sum_{k=1}^n x_k^{\frac{m+1}{p+1}} \right)^{p+1}. \tag{2.6}$$

But, the function $g : (0, \infty) \rightarrow \mathbb{R}$ defined by $g(x) = x^{\frac{m+1}{p+1}}$, $x \in (0, \infty)$, is convex on $(0, \infty)$ and then

$$\sum_{k=1}^n g(x_k) \geq n g \left(\frac{1}{n} \sum_{k=1}^n x_k \right),$$

from where

$$\sum_{k=1}^n x_k^{\frac{m+1}{p+1}} \geq n^{\frac{p-m}{p+1}} X_n^{\frac{m+1}{p+1}}. \tag{2.7}$$

From (2.5)-(2.7), inequality (2.4) follows. □

Remark 2.1. If we consider $m = p$ in inequality (2.4), we obtain Radon’s Inequality.

Application 2.1. If $n \in \mathbb{N}$, $x_k \geq 0$, $a, b \in \mathbb{R}$, $a(x_1 + x_2 + \dots + x_n) - bx_k > 0$ for any $k \in \{1, 2, \dots, n\}$ and $m \geq p \geq 0$, then

$$\sum_{k=1}^n \frac{x_k^{m-p+1}}{(a(x_1 + x_2 + \dots + x_n) - bx_k)^p} \geq n^{2p-m} \frac{(x_1 + x_2 + \dots + x_n)^{m-2p+1}}{(an-b)^p}. \tag{2.8}$$

Solution. By using inequality (2.4), we have that

$$\begin{aligned} \sum_{k=1}^n \frac{x_k^{m-p+1}}{(a(x_1+x_2+\dots+x_n)-bx_k)^p} &= \sum_{k=1}^n \frac{x_k^{m+1}}{(ax_kX_n - bx_k^2)^p} \\ &\geq n^{p-m} \frac{X_n^{m+1}}{\left(aX_n \sum_{k=1}^n x_k - b \sum_{k=1}^n x_k^2\right)^p}, \end{aligned}$$

so

$$\sum_{k=1}^n \frac{x_k^{m-p+1}}{(a(x_1+x_2+\dots+x_n)-bx_k)^p} \geq n^{p-m} \frac{X_n^{m+1}}{\left(aX_n^2 - b \sum_{k=1}^n x_k^2\right)^p}, \tag{2.9}$$

where $X_n = x_1 + x_2 + \dots + x_n$.

By taking the inequality $\sum_{k=1}^n x_k^2 \geq \frac{(x_1 + x_2 + \dots + x_n)^2}{n}$ into account, we have that $aX_n^2 - b \sum_{k=1}^n x_k^2 \leq aX_n^2 - \frac{b}{n}X_n^2 = \frac{an - b}{n}X_n^2$, and then

$$\frac{X_n^{m+1}}{\left(aX_n^2 - b \sum_{k=1}^n x_k^2\right)^p} \geq n^p \frac{X_n^{m-2p+1}}{(an - b)^p}. \tag{2.10}$$

From (2.9) and (2.10), inequality (2.8) results.

Remark 2.2. In conditions of Application 2.1, for $m = p = 1$ we obtain the inequality

$$\sum_{k=1}^n \frac{x_k}{aX_n - bx_k} \geq \frac{n}{an - b}. \tag{2.11}$$

The inequality from (2.11) is a generalization of Nesbitt's Inequality:

$$\frac{x_1}{x_2 + x_3} + \frac{x_2}{x_3 + x_1} + \frac{x_3}{x_1 + x_2} \geq \frac{3}{2}, \tag{2.12}$$

for any $x_1, x_2, x_3 > 0$ (see [16]).

Application 2.2. If $a, b, c > 0$, prove that

$$\begin{aligned} &\frac{1}{a^3(b+c)} + \frac{1}{b^3(c+a)} + \frac{1}{c^3(a+b)} \\ &\geq \frac{(ab+bc+ca)^3}{6a^3b^3c^3(a+b+c)} \geq \frac{ab+bc+ca}{2a^2b^2c^2} \geq \frac{3}{2} \cdot \frac{1}{\sqrt[3]{(abc)^4}}. \end{aligned} \tag{2.13}$$

Solution. If $n = 3, m = 2, p = 1, x_1 = \frac{1}{a}, x_2 = \frac{1}{b}, x_3 = \frac{1}{c}, y_1 = b + c, y_2 = c + a, y_3 = a + b, y_3 = a + b$, from (2.4) the first inequality above follows. By using inequality $(x+y+z)^2 \geq 3(xy+yz+zx)$, for any $x, y, z \in \mathbb{R}$, we have that $(ab+bc+ca)^2 \geq 3abc(a+b+c)$, so inequality $\frac{(ab+bc+ca)^3}{6a^3b^3c^3(a+b+c)} \geq \frac{ab+bc+ca}{2a^2b^2c^2}$ holds.

But $ab+bc+ca \geq 3\sqrt[3]{a^2b^2c^2}$ and then $\frac{ab+bc+ca}{2a^2b^2c^2} \geq \frac{3}{2} \cdot \frac{1}{\sqrt[3]{(abc)^4}}$.

From the inequalities above, (2.13) follows.

Remark 2.3. From this application, we obtain the following problem given in the *XXXVIth International Mathematical Olympiad, Canada, 1995*:

If $a, b, c > 0$ with $abc = 1$, then

$$\frac{1}{a^3(b+c)} + \frac{1}{b^3(c+a)} + \frac{1}{c^3(a+b)} \geq \frac{3}{2}. \tag{2.14}$$

By using inequality (2.4), we can prove the following inequality:

If $n \in \mathbb{N}$, $a, b, x_1, x_2, \dots, x_n > 0$, $m \geq p \geq 0$, $x_1 \cdot x_2 \cdot \dots \cdot x_n = 1$ and by definition $x_{n+1} = x_1$, then the inequality

$$\sum_{k=1}^n \frac{x_k^p}{(ax_{k+1} + bx_k)^p \cdot x_{k+1}^{m-p+1}} \geq \frac{n}{(a+b)^p} \tag{2.15}$$

holds.

Remark 2.4. If $n = 3$, $a = b = p = 1$ and $m = 4$, from (2.15) inequality (2.14) results, so the inequality from (2.15) is a generalization for the inequality from (2.14).

Application 2.3. If $a, b, c, d, x, y, z > 0$, $m \geq p \geq 0$ and $b + c + d \leq 24a^2$, then

$$\begin{aligned} \frac{x^{m-p+1}}{\sqrt{(a^2x^2 + byz)^p}} + \frac{y^{m-p+1}}{\sqrt{(a^2y^2 + czx)^p}} + \frac{z^{m-p+1}}{\sqrt{(a^2z^2 + dxy)^p}} \\ \geq \frac{(x + y + z)^{m-2p+1}}{a^p}. \end{aligned} \tag{2.16}$$

Solution. We note with A the left member of the inequality from (2.16). We have that

$$A = \sum \frac{x^{m+1}}{x^p \sqrt{(a^2x^2 + byz)^p}} = \sum \frac{x^{m+1}}{(\sqrt{x} \sqrt{a^2x^3 + bxyz})^p}$$

and by using inequality (2.4), we obtain

$$A \geq 3^{p-m} \frac{(x + y + z)^{m+1}}{\left(\sqrt{x} \sqrt{a^2x^3 + bxyz} + \sqrt{y} \sqrt{a^2y^3 + cxyz} + \sqrt{z} \sqrt{a^2z^3 + dxyz}\right)^p}. \tag{2.17}$$

If we note $B = \sqrt{x} \sqrt{a^2x^3 + bxyz} + \sqrt{y} \sqrt{a^2y^3 + cxyz} + \sqrt{z} \sqrt{a^2z^3 + dxyz}$, by using Cauchy-Schwarz Inequality, we have

$$B^2 \leq (x + y + z)(a^2(x^3 + y^3 + z^3) + (b + c + d)xyz)$$

and by taking the relation $b + c + d \leq 24a^2$ into account, it results that

$$B^2 \leq a^2(x + y + z)(x^3 + y^3 + z^3 + 24xyz).$$

But the inequality $x^3 + y^3 + z^3 + 24xyz \leq (x + y + z)^3$, $x, y, z > 0$, is well known, and then the inequality above becomes

$$B \leq a(x + y + z)^2. \tag{2.18}$$

From (2.17) and (2.18), inequality (2.16) follows.

Remark 2.5. From inequality (2.16), for $a = 1$, $b = c = d = 8$, $m = p = 1$, we obtain the following problem given in the *XLIIIth International Mathematical Olympiad, USA, 2001*:

If $x, y, z > 0$, then inequality

$$\frac{x}{\sqrt{x^2 + 8yz}} + \frac{y}{\sqrt{y^2 + 8zx}} + \frac{z}{\sqrt{z^2 + 8xy}} \geq 1 \tag{2.19}$$

holds.

Application 2.4. If $n \in \mathbb{N}$, $(F_n)_{n \geq 0}$ is Fibonacci's sequence, $a > \frac{F_n}{F_{n+2} - 1}$ and $m \geq p \geq 0$, then

$$\sum_{k=1}^n \frac{F_k^{m+1}}{(a(F_{n+2} - 1) - F_k)^p} \geq \frac{n^{p-m}}{(an - 1)^p} (F_{n+2} - 1)^{m-p+1}. \tag{2.20}$$

Solution. It is well-known that $\sum_{k=1}^n F_k = F_{n+2} - 1$. By using inequality (2.4), we have that

$$\sum_{k=1}^n \frac{F_k^{m+1}}{(a(F_{n+2} - 1) - F_k)^p} \geq n^{p-m} \frac{\left(\sum_{k=1}^n F_k\right)^{m+1}}{\left(na(F_{n+2} - 1) - \sum_{k=1}^n F_k\right)^p},$$

from where the inequality from (2.20) follows.

Theorem 2.5. If $a, b \in \mathbb{R}$, $a < b$, $m \geq p \geq 0$, $f, g : [a, b] \rightarrow [0, \infty)$ are integrable function on $[a, b]$, $g(x) \neq 0$ for any $x \in [a, b]$, then

$$\int_a^b \frac{(f(x))^{m+1}}{(g(x))^p} dx \geq (b - a)^{p-m} \frac{\left(\int_a^b f(x) dx\right)^{m+1}}{\left(\int_a^b g(x) dx\right)^p}. \tag{2.21}$$

Proof. Let $n \in \mathbb{N}$ and $x_k = a + k \frac{b-a}{n}$, $k \in \{0, 1, \dots, n\}$. By Theorem 2.1, we get that

$$\sum_{k=1}^n \frac{(f(x_k))^{m+1}}{(g(x_k))^p} \geq n^{p-m} \frac{\left(\sum_{k=1}^n f(x_k)\right)^{m+1}}{\left(\sum_{k=1}^n g(x_k)\right)^p}.$$

It results that

$$\sigma\left(\frac{f^{m+1}}{g^p}, \Delta_n, x_k\right) \geq (b - a)^{p-m} \frac{(\sigma(f, \Delta_n, x_k))^{m+1}}{(\sigma(g, \Delta_n, x_k))^p},$$

where $\sigma\left(\frac{f^{m+1}}{g^p}, \Delta_n, x_k\right)$ is the corresponding Riemann sum of function $\frac{f^{m+1}}{g^p}$, of $\Delta_n = (x_0, x_1, \dots, x_n)$ division, and the intermediate x_k points. By passing to limit in the inequality above, when n tends to infinity, the inequality (2.21) follows. \square

Remark 2.6. By particularization, from (2.21) we can obtain the classic integral inequalities: Hölder's Inequality, Cauchy-Schwarz's Inequality and Chebyshev's Inequality.

REFERENCES

- [1] Andreescu, T. and Lascu, M., *About an inequality*, Gaz. Mat. ser. B **CVI** (2001), No. 9-10, 322–326 (in Romanian)
- [2] Bătinețu-Giurgiu, D. M. and Pop, O. T., *A generalization of Radon's Inequality*, Creat. Math. Inform. **19** (2010), No. 2, 116–121
- [3] Bătinețu-Giurgiu, D. M., *Applications to the J. Radon Inequality*, Gaz. Mat. ser. B **CXV** (2010), No. 7-8-9, 359–362 (in Romanian)
- [4] Bătinețu-Giurgiu, D. M. and Stanciu, N., *Geometric inequalities of Bergström–Mitrinović type in convex polygons*, Recreații Matematice Iași, No. 2 (2010), 112–115 (in Romanian)
- [5] Bechenbach, E. F. and Bellman, R., *Inequalities*, Springer, Berlin, Göttingen and Heidelberg, 1961
- [6] Bellman, R., *Notes on Matrix Theory - IV (An inequality Due to Bergström)*, Amer. Math. Monthly **62** (1955), 172–173
- [7] Bencze, M., *Inequalities connected to the Cauchy–Schwarz Inequality*, Octagon Math. Mag. **15** (2007), No. 1, 58–62
- [8] Bergström, H., *A triangle inequality for matrices*, Den Elfte Skandinaviske Matematikerkongress, 1949, Trodheim, Johan Grundt Tanums Forlag, Oslo, 1952, 264–267
- [9] Florea, A. and Niculescu, P.C., *About a Bergström's inequalities*, Gaz. Mat. ser. B **CVII** (2002), No. 11, 434–436 (in Romanian)
- [10] Hardy, G., Littlewood, J. E. and Pólya, G., *Inequalities*, Cambridge University Press, 1934
- [11] Marinescu, D. Ș. and Schwarz, D., *Radon's Inequality*, Revista de Matematică din Timișoara **4** (2009), 3–7 (in Romanian)
- [12] Mărghidanu, D., *Generalizations and refinements for Bergström and Radon's Inequalities*, J. Sci. and Arts, **8** (2008), No. 1, 57–61
- [13] Mărghidanu, D., Diaz-Barrero, J. L. and Rădulescu, S., *New refinements of some classical inequalities*, Math. Inequal. Appl. **12** (2009), No. 3, 513–518
- [14] Mitrinović, D. S., Pečarić, J. E. and Fink, A. M., *Classical and New Inequalities*, Kluwer Academic Publishers, Dordrecht, Boston, London, 1993
- [15] Mitrinović, D. S., *Analytic Inequalities*, Springer-Verlag, Berlin, 1970
- [16] Nesbitt, A. M., *Problem 15114*, Educational Times **3** (1903), 37–38
- [17] Panaitopol, L., *Consequences of Hölder's Inequality*, Gaz. Mat. ser. B **CVII** (2002), No. 4, 145–147 (in Romanian)
- [18] Pop, O. T., *About Bergström's Inequality*, J. Math. Inequal. **3** (2009), No. 2, 237–242
- [19] Radon, J., *Theorie und Anwendungen der absolut additiven Mengenfunktionen*, Sitzungsber. Acad. Wissen. Wien **122** (1913), 1295–1438

EDITORIAL BOARD OF GAZETA MATEMATICĂ
 ACADEMIEI 14
 BUCUREȘTI 010014, ROMANIA
 E-mail address: dmb.g@yahoo.com

NATIONAL COLLEGE "A. I. CUZA"
 1 MAI 5
 CORABIA 235300, ROMANIA
 E-mail address: d.marghidanu@gmail.com

NATIONAL COLLEGE "MIHAI EMINESCU"
 MIHAI EMINESCU 5
 SATU MARE 440014, ROMANIA
 E-mail address: ovidiutiberiu@yahoo.com